

s.107

587

$$\begin{aligned} \text{a) } 2x + 5 &= 9 & \parallel -5 \\ 2x + 5 - 5 &= 9 - 5 \\ \frac{2x}{2} &= \frac{4}{2} & \parallel :2 \\ x &= 2 \end{aligned}$$

$$\begin{aligned} \text{b) } 3x &= x - 6 & \parallel -x \\ 3x - x &= x - 6 - x \\ \frac{2x}{2} &= \frac{-6}{2} & \parallel :2 \\ x &= -3 \end{aligned}$$

$$\begin{aligned} \text{c) } 5 - x &= 3 & \parallel -5 \\ 5 - x - 5 &= 3 - 5 \\ \frac{-x}{-1} &= \frac{-2}{-1} & \parallel :(-1) \\ x &= 2 \end{aligned}$$

$$\begin{aligned} \text{d) } 7x - 1 &= 5x - 1 & \parallel -5x \\ 7x - 1 - 5x &= 5x - 1 - 5x \\ 2x - 1 &= -1 & \parallel +1 \\ 2x - 1 + 1 &= -1 + 1 \\ \frac{2x}{2} &= \frac{0}{2} & \parallel :2 \\ x &= 0 \end{aligned}$$

588

$$c) 6x - 7 = 6x + 3 \quad \parallel -6x$$

$$6x - 7 - 6x = 6x + 3 - 6x$$
$$-7 = 3$$

ei ratkaisua

$$6x - 7 = 6x - 7$$

Ratkaisuna on
kaikki arvot.

591

$$a) 2(x + 4) = 12$$

$$2x + 8 = 12 \quad \parallel -8$$

$$2x + 8 - 8 = 12 - 8$$

$$\frac{2x}{2} = \frac{4}{2} \quad \parallel :2$$

$$x = 2$$

$$b) 5(x + 3) = 15$$

$$5x + 15 = 15 \quad \parallel -15$$

$$5x + 15 - 15 = 15 - 15$$

$$\frac{5x}{5} = \frac{0}{5} \quad \parallel :5$$

$$x = 0$$

(592)

$$d) \quad 5(x+1) = 3(2x+6)$$
$$5x + 5 = 6x + 18 \quad \parallel -6x$$

$$5x + 5 - 6x = 6x + 18 - 6x$$

$$-x + 5 = 18 \quad \parallel -5$$

$$-x + 5 - 5 = 18 - 5$$

$$\frac{-x}{-1} = \frac{13}{-1} \quad \parallel :(-1)$$

$$x = -13$$

$$c) \quad 4(3 - 2x) = 3 - 2x$$

$$12 - 8x = 3 - 2x \quad \parallel +2x$$

$$12 - 8x + 2x = 3 - 2x + 2x$$

$$12 - 6x = 3 \quad \parallel -12$$

$$12 - 6x - 12 = 3 - 12$$

$$\frac{-6x}{-6} = \frac{-9}{-6} \quad \parallel :(-6)$$

$$x = \frac{9^0}{6} = \frac{3}{2} = 1\frac{1}{2} (=1,5)$$

esim.

$$\frac{3x}{3} = \frac{1}{3} \quad \parallel :3$$

$$x = \frac{1}{3} (=0,333...)$$

595

$$a) \frac{4(x+3)}{4} = 2 \cdot 4 \quad || \cdot 4$$

$$x+3 = 8 \quad || -3$$

$$x+3-3 = 8-3$$

$$x = 5$$

597

$$b) \frac{12(x+5)}{4} = \frac{12(x+2)}{3} \quad || \cdot 12$$

$$3(x+5) = 4(x+2)$$

$$3x+15 = 4x+8 \quad || -4x$$

$$3x+15-4x = 4x+8-4x$$

$$-x+15 = 8 \quad || -15$$

$$-x+15-15 = 8-15$$

$$\frac{-x}{-1} = \frac{-7}{-1} \quad || : (-1)$$

$$x = 7$$

$$d) \frac{18(5y-3)}{6} = \frac{18(3y+6)}{9} \quad || \cdot 18$$

$$3(5y-3) = 2(3y+6)$$

$$15y-9 = 6y+12 \quad || -6y$$

$$15y-9-6y = 6y+12-6y$$

$$9y-9 = 12 \quad || +9$$

$$9y - 9 + 9 = 12 + 9$$

$$\frac{9y}{9} = \frac{21}{9} \quad \parallel :9$$

$$y = \frac{21}{9} \stackrel{!}{=} \frac{7}{3} = 2 \frac{1}{3}$$

607

$$a) \quad x^2 = 36 \quad \parallel \sqrt{}$$

$$\sqrt{x^2} = \sqrt{36}$$

$$x = \pm 6$$

$$b) \quad x^2 - 64 = 0 \quad \parallel +64$$

$$x^2 - 64 + 64 = 0 + 64$$

$$x^2 = 64 \quad \parallel \sqrt{}$$

$$\sqrt{x^2} = \sqrt{64}$$

$$x = \pm 8$$

$$c) \quad \frac{2x^2}{2} = \frac{32}{2} \quad \parallel :2$$

$$\sqrt{x^2} = \sqrt{16} \quad \parallel \sqrt{}$$

$$x = \pm 4$$

$$d) \quad x^2 + 25 = 0 \quad \parallel -25$$

$$x^2 + 25 - 25 = 0 - 25$$

$$x^2 = -25 \quad \parallel \sqrt{}$$

$$\sqrt{x^2} = \sqrt{-25}$$

ei ratkaisua